1. Question: So (A Yo TF (F NFT (NAF T ANF 9FF AT NF » O TN Fo?

A) $8%
B) »»

C) Soc
D) o9

Answer: B)

Explanation: So (@ Yo X (NfTF AT AFF TAT AT > I IS IET 5D, 31D, & | AW
WA = 89 + 3D + @ = boq

2. Question: 8o MG a 3@ S FH| NIGF AFE T3 FIE F TE@?
A)a+ S =8o

B)a+ 80 =\

C)a=8o+)

D)a =80 +4%

Answer: D) a = 8o +\)

Explanation: TSNS, O, a-5 =809,a=80+\5)

3. Question: 16 I Fuo MAT § BIF AFF JIEH T IO Fo?

A)>
B) So
C)->
D)5

Answer: B) So

Explanation: 516 SIFa Fues 53T Soooo; B1F I 2T A 99> AF I = 50000 - DD
=\

4. Question: b.Y, .0, 8 .00\ -7 TAfE F6?

A) 0.055%

B) 5.505%%
C) 55.5%0%



D) 5.555%
Answer: A) 0.055%%

Explanation: 1.1 + 0.01 + 0.0011 = 1.1111

5. Question: T fGAG TATF SIHT S0 A BT (JT5T%HeT 2(F-

A) >

B) 53
C) 18
D) 5@

Answer: B) 53

Explanation: S0 a5 BIATF =8x XY .. 8+ ¢+ Y =150

6. Question: Which of the following integers has the most divisors?

A) 99
B) 91
C) 95
D) 88

Answer: A) 99

Explanation: 88 =2 x 2 x 2 x 11 Divisors= 2, 4, 8, 11, 22, 44, 88 91 =7 x 13 Divisors = 7, 13,
91 95 =5 x 19 Divisors = 5, 19, 9599 = 3 x 3 x 11 Divisors = 3, 9, 11, 33, 99

7. Question: Successive discount of 20% and 15% are equal to a single discount of-

A) 30%

B) 35%

C) 34%

D) 32%

Answer: B) 35%

Explanation: Let the original price be 100 tk After 20% discount the price is 80 tk Again, after
15% discount new price is 80 - 80 x.15 = 68 Total discount= (100 - 68) = 32%



8. Question: City B is 5 miles east of city A. City C is 10 miles southeast of city B. Which
of the following is the closest to the distance from city A to City C?

A) 11 miles
B) 12 miles
C) 13 miles
D) 14 miles

Answer: B) 12 miles

Explanation: BD 132 DC 751 S (IRg 5781 (F1 43612 8¢ f&fy| 9113, BDC fagst (3 St
R, BC2 = BD2 + DC2 => 102 = x2+ X2 X = 5\2 ST, ADC (¥F 7R, AC2 = AD2 + DC2 = (5 +
x)2 + x2 AC = 14 I1¥13, A (¥ C 99 7¥ 18 T3 |

9. Question: 8 5 5 B1F1E (@16 8 v 6 X B1F1F (16 9%@ b6 ¢ BIF1F (G F© 9R9?

A) 5/8

B) /5%

C) slw

D) /3

Answer: B) b/5Y

Explanation: 8 f6 5 B131@ (@16 8 & 6 X BIFTE (A6 = (b%8 + ©x3) = X0 & b ¢ BIFEF (16 = (v * ¢)
= 8o BIFT ABAT, Y0/80 = S/ TR

10. Question: 1.16 97 EHNFT STRYT (FHH?

A) 1(1/6)

B) 1(8/45)

C) 1(16/99)

D) 1(4/25)

Answer: A) 1(1/6)

Explanation: 1.16 = 1(16/100) = 1(4/25)

11. Question: | have not heard from him __.

A) long since



B) for a long time
C) since long
D) for long

Answer: B) for a long time

Explanation: B s JITCS (0 0 @S A2 T FAIF (I for long AT sfHf6® I for a long
time 929 2T

12. Question: Honey is sweet.

A) Excessive

B) too much

C) much too

D) very

Answer: D) very

Explanation: Very is an adverb which is used to modify the adjective. a3 very, sweet (¥

TOHR FIX®I

13. Question: Your conduct admits no excuse.

A) to

B) for
C) At
D) of

Answer: B) for

Explanation: Your conduct admits of no excuse. (STHIF AT (FT SAGRIOF AIPTT JY 7|
Admit (of) (@‘I@lﬁ@) AT ATFRT|I The clause admits of no other interpretation. Source: Bangla
Academy Dictionary.

14. Question: | shall not the examination this year.

A) give

B) go for

C) sit

D) appear at



Answer: C) sit

Explanation: T3S (WA R@fS TR — appear at AT sit for.

15. Question: They travelled to Savar-

A) by foot

B) by walking
C) on their feet
D) on foot

Answer: D) on foot

Explanation: On foot: walking. - Are you going by bicycle or by bus or on foot? 92T ©12 N3
Tad - $) on foot Source: Cambridge Dictionary

16. Question: He said that he be unable to come.

A) will

B) shall
C) should
D) would

Answer: D) would

Explanation: Reporting verb, past tense 2 A13(, indirect speech 2= reported 9T Iz tense
a4 %1 Correct sentence: He said that he would be unable to come.

17. Question: Neither Rini nor Simi qualified for the job.

A) are
B) Had
C) were
D)is

Answer: C) were

Explanation: Neither ---- nor, either ----- or, not only ---- but also, not ---- but :JéB(FITEI?ITPIfﬁ Noun
3T Pronoun J& (T T subject AeS1F Verb IGTI



18. Question: He said that he the previous day.

A) has come
B) Arrived
C) came

D) had come

Answer: D) had come

Explanation: Direct Narration-a yesterday N1<(T Indirect Narration-4 the previous day X¥| Jwa
I Direct Narration-a Past Indefinite Tense-a f&@@1, @1 Indirect Narration-a Past Perfect
Tense R[]I

19. Question: He watched the boat down the river.

A) to float

B) had floated
C) was floating
D) floating

Answer: D) floating

Explanation: (319 simple sentence 4 9ft main verb TRR1E F91 T 711 ©1R 936 verb 97 S ing
(ST FJ0@ 2T | B3 9 floating T3F Tog|

20. Question: 'Sky' is to 'bird" as 'water' is to-

A) feather

B) Lotus

C) boat

D) fish

Answer: D) fish

Explanation: =X (bird) SF1CT (sky) 689 F@&F, M&A (fish) [REFerze 2@ =1fer (water)|

21. Question: 'Good' is to 'bad' as 'white' is to-

A) dark
B) Ebony
C) grey



D) black
Answer: D) black

Explanation: ST (Good) f3srdte 3= (Bado); ST (White) a5 f3518t® FTe (Black)|

22. Question: 'Botany' is to 'plants’ as 'Zoology’ is to-

A) flowers
B) trees
C) dear
D) animals

Answer: D) animals

Explanation: SR (Plants) SfeufIwna (Botany) 3T, 2ndtwa (Animals) @ SIS &
AT (Zoology) | Botany is the study of plants, zoology is of animals.

23. Question: The bad news struck him like a bolt from the-
A) sky

B) heavens

C) firmament

D) blue

Answer: A) sky

Explanation: Phrase/ldioms: A bolt from the blue English Meaning: Totally unexpected Bangla
Meaning: STelIfe ST =31 blue TS|

24. Question: When one is 'pragmatic' he is being-

A) wasteful

B) productive

C) Fussy

D) practical

Answer: D) practical

Explanation: Pragmatist (noun) Meaning: A person who is guided more by practical
considerations than by ideals. Bangla meaning: S@s/A1aT| Example Sentence: Often the



visionary has to work for hand in glove with a pragmatist to get results. SJodR, A SOF Tod -
) practical Source: Oxford Dictionary & Bangla Academy Dictionary.

25. Question: Into the of death rode the six hundred.

A) city
B) tunnel
C) road
D) valley

Answer: D) valley

Explanation: Into the valley of Death Rode the six hundred. The Charge of the Light Brigade
BY ALFRED, LORD TENNYSON

26. Question: To be or not to be, that is the .

A) meaning
B) Issue

C) answer
D) question

Answer: D) question

Explanation: To be, or not to be: that is the question. Hamlet, Act lll, Scene | [To be, or not to
be] - William Shakespeare

27. Question: | have a that one day this nation will live out the true meaning of its
creed that all men are created equal.

A) desire
B) hope
C) Wish
D) dream

Answer: D) dream
Explanation: “| have a dream that one day this nation will rise up, live out the true meaning of

its creed that all men are created equal.” - Speech by the Rev. Martin Luther King At the "March
on Washington".



28. Question: Who wrote the two famous novels, 'David Copperfield' and 'The Tale of two
Cities'?

A) Thomas Hardy

B) Jane Austen

C) George Eliot

D) Charles Dickens

Answer: D) Charles Dickens

Explanation: Charles Dickens, in full Charles John Huffam Dickens, (born February 7, 1812,
Portsmouth, Hampshire, England—died June 9, 1870, Gad’s Hill, near Chatham, Kent), English
novelist, generally considered the greatest of the Victorian era

29. Question: Who wrote the plays, 'The Tempest' and 'The Mid Summer Night's Dream'?
A) Ben Johnson

B) Christopher Marlowe

C) John Dryden

D) William Shakespeare

Answer: D) William Shakespeare

Explanation: A Midsummer Night Dreams, - The tempest

30. Question: FETHIET T Fre e & T2

A) RAM

B) STHG3IIH

C) 63 I|F

D) ROM

Answer: D) ROM (Read-Only Memory)

Explanation: RAM a3 ROM T FPISHIES FHE (N | ©@ ROM T =T (TN I F9-(SFIB1RT
CIEl

31. Question: He had a headache.

A) strong



B) acute
C) bad
D) serious

Answer: A) strong

Explanation: « *[731( 3% $8F 3@ - bad. - Complete sentence: He has a bad headache. ¢
HIHTE9e T T w[Fo] (1O severe, chronic, bad, splitting, acute FONW 9% THSE] [INF
EBIERN

32. Question: T3 WY Fo T If6Po @®?

A) 5555 ST
B) $98% ST
C) S90S NI
D) 5938 ST

Answer: A) 555 NI (A) 1911 ST

Explanation: G131 [AgfRIwyey aRAmeTd aibiaes, FE338 a3 SRR Sidves J16ia Mozt
SHRTHT 8 STEFT AGH| S0 N SFGIT [AHATST 526 GIFT [Ty ARTTET $o3S T S
SR S fRgfawyery e o1 frafRmyea@s Ses 8 23|

33. Question: IRACT FAM TIFI frafamrey TE=?

A)8s o

B):8

C)wesfo

D) ¢o 6 =3fG I Fa1 @™

Answer: B) 28 f&

Explanation: =56 ifed Fa71 2@®

34. Question: IFFEGIF Y BIA(OF STo«d (SANET (F [RET?

A) TE MEHH/HA
B) 76 SETIeT
C) & GFERIN
D) 76 I



Answer: A) & MEHIHNHS

Explanation: $»0¢ STETH b & SR SIFTANT IGAN6 A6 B e IRAT (SNSHE (S07 761
2T FEA | Af6 ToTest el AfAbe | FFE FET 3 ZYH R ©FF [REEer @ a3k AR
ST BF FE

35. Question: SITIASTIE WY Juod IS {70 (F1EAG?

A) (BTwsIT
B) ST@sITH

C) foaarsta
D) (FGoa
Answer: A) (ST%3T

Explanation: o3fG fS%1R $971 2@®| + FHoN 2G{AI: - TP ATFT 2SAINSET A& TIEE F4
3T - (TN | - (6 Jfoa FICE AT v F5(F. 137 273, TSAIET Ao vo F5(fF.[| - 87
ST Af6 9T Fued 2O |

36. Question: ARITS-F T4 19T (PN AIFFe?
A) TSF

B) fodt

C) fre3zs

D) (Swel

Answer: B) fug@t

Explanation: II@SfGF 23 52737 (ILO) =fSf5e TX v 25> S|

37. Question: ANFIFE WWF T (FINT T30 ?

A) FICET
B) fioreg
C) fagt
D) IR+

Answer: A) $&I

Explanation: TNfET:ET aftdfes 3 SMRF FHrmea (ECOSOC) arffta «ft arefors srftafes
IR TAR



38. Question: 3SETIY 3SAIET Tvg WIF (FRT Ao ?

A) TTT
B) =yifar
C)Fa

D) ATCTe

Answer: D) 919

Explanation: - (R §f&a M S5y SEE S SN RSENT 2EAAF FHSf6 (EEC) B
TOH TSI 2SFere 515w 27|

39. Question: IRACTIE T FFTONAFIA (T (FTAG?

A) T
B) At

C) NN
D) ®1F®

Answer: D) ©19@

Explanation: - IRTACT {feT@ SNFIER ST AT b fETHF @61 9F2 ©IF© IRATE fe
AN FE | - IRACT AT 972 THAY No@F SIHH© IRTENE FF1S TSI TN (7 QoI
93 feel (v BRw|

40. Question: IRATMCIF TN FZIfeq 17 fF?

A) TTT9 TS 35
B) ©TSIS e SREM

C) TG s et
D) CT¥ & TR

Answer: D) CT¥ Jf&qF F=

Explanation: IRNCTH 9203 FEAM0 o Sd 51 CTH ST TRIF | 5295 T So afFeT
ST T NAFE/ AT NAFF 513 271 bR T IRAT0TF I3 NAF |

41. Question: ST SR IRATT TSI A 572



A) (TG

B) STRBHISTE
C) B/

D) CTETEsIt

Answer: C) G191

Explanation: SETeTa SIRET IRATH ATSETAT oo SCT (ARG (Swob-Soas L) | T& Aear
FABAS T (MG (58¢0-5CHE L) | —-mmmmemmev 25T AR TF TR TS 7, O Ao 2@ 1
CREIEINEICINER ) CRGICIERIRACTE R E I CY

42. Question: IRAECTE YEI@H THT AT (F o ?

A) CTN ST TR

B) TG Sos{d St

C) GIonS %l Sz

D) (ST ST STfer STy

Answer: C) ©TSS e SREM

Explanation: - IRTOCTR Y& @a NAEAIF foeTay 35735, O ST TN | - Fofer SPat IRemmerT
TEFES AP | OTF (F9te2 IRTWE o Afeire 23| fofaz T @ FE=|

43. Question: MG} BN FIH (ST AZ?

A>T

B)c«fo

C)afe

D) e f6

Answer: C)qfG

Explanation: - I35, ATGTRS 8 IFHEAE 93 fEaft (v o ey 58 sifds |

44. Question: East London (314 9I1%w?

A) RTINS

B) sfat®

C) Sfa1

D) wf¥§e SNy



Answer: A) (S (East London is located in England)

Explanation: - East London, Afrikaans Oos-Londen, port city, Eastern Cape province, South
Africa.

45. Question: A6 ®1F@a ¥ RN (F RE@F?

A) TE FIET

B) 16 SIS

C) 76 @G

D) & MBI

Answer: A) 6 FEa

Explanation: - & MSHATHA $»89 SEF T (AF ASTH 5AE SIFOT SRIFT 8 SToHT (GG
o |

46. Question: YEYHT THT IR FAM (FTBE ST FAT TART?

A)s o

B)aft

C)ssfh

D)ss B

Answer: B) a6

Explanation: - J& SfEEFaTE M fHIT5E TTFTF $>9S SEF &S AfHeT ST IRTMETEF S5
TR B1T F(|

47. Question: (S3FAIT NFAGF T | AT NOF SoF (A2 | ISNA O SA© AT (T | ) NP
IGANZT IO TIAZANGF A 572

A) &5 foerasia

B) et faaoa

C) I (5136

D) FS1fersy a3 76 1o Fa71 2@ ®

Answer: The correct option is D) FGIfesT 135,

Explanation: =36 16 $a7 2@®



48. Question: ©1F(od IOV INAINIFT JF [F?

INEICERIET]
B) T. NawIRd iz
C) e FTAE
D) JE% (N

Answer: D) a@% (Nfa

Explanation: ST(eT NN FE@H (0t 2058 T TYNIT FHOT A | - 205> NEF HLEE
SIS FE o G601 ToT FAeT ACH| - GG, ol 6T saer b (AF st [T 2|
- fofa B1ated L8N TS| T2 BRI 9T 3G HENG 8 F@w Gl SFIN3G |

49. Question: FNfEREFT TvF 78 (FINT AIFG?

A) T

B) T

C) *mifast

D) fro3x<

Answer: D) fA533&

Explanation: - STeT:E 71 78 JSANEH 0333 fSiiore waf¥e 136 FNEs|

50. Question: N&@F SHIETT (FINT AIfFe?

A) fugt
B) RESIAW
C) BT

D) FIG

Answer: C) GIFT

Explanation: - {3 a5 Sr2ferss SRETT 58737 (RESET ) wiRger afFfmg a6 TaF1fa s1e7m|

51. Question: (GIFA% (F1F 0T OIF AIF0?

A) =9
B) T[T
C) TR



D) 7%

Answer: D) q% - (53d% dqd OIF AM3e |

Explanation: - (53a1% IRATGCIR & THEF S| A6 FHISE (FT 330 | - (GF
TAANES SNRBT6! A% AT OIF AFFe | TI: (GFATS SIS SFIFZ0G |

52. Question: "SIAYHR’ ST F60T (F7?

A) (TETW TS99 T2
B) o1& Sftnd SI2Ew
C) CTH How]e Hfas
D) F18 2T 25

Answer: A) (ITTFTW TSI T2

Explanation: - SRR - S5Sbd T60] 15T e 29| - afb GITET ©1Fe Aas
HAARPSIE TFIS OT| - S0 ST A6 STHFNE FFIT© 27| - SHATHG TeATHIAT THF ©IF
QY 2T FIET AT FIH I [FH ITG] IS FE PG STHIG TG FEH |

53. Question: JFNCELT FAF AT ATH-
A) TRt

B) FEIFS

C) IHII@A O3

D) Tsfrafrar

Answer: A) TSt

Explanation: - IR XY S S¥F SAH "ot Gl af-aaia = o SH1&a Fav|

54. Question: Wi ST (F1F TAIF (NRATT TIFS?
A) %

B) cowfean

C) &I ¥

D) =TS B

Answer: C) STGAT AT

Explanation: - wf%< @18 &7 (South Talpatti Island) STSHIAT (ST TFSH SEHR TGS



JETTIES TSI FPJF NG (continental shelf) AT (ST 837 A3 SoFeTo! 4|

55. Question: W 3 FA NHF FHF FRETH (FINF FIFe?

A) TSI
B) SIGIIT
C) B@e™
D) (@1

Answer: C) (5o @

Explanation: - % 25 8 $f¥ 51318 (FAO-Food and Agricultural Organization) STmaw@a 2elfei
ST (@ F1fFe |

56. Question: (NG T AfET FIF A fofefo 27?2

A) Bl GNRTEF T

B) Al

C) ™M1 T

D) (x0T Mg

Answer: A) T (NEAESF N2

Explanation: (I M1 (588-5¢5>) TR (RITTNAT RCTH AeoTT| - fSfel 2 SeTee enfiutey
Yo% TRA SR e | fofel o1 2oil FE@ 2 SAEFE FE|

57. Question: (SO F1 (P (AT (W] 2Y?

INENIERT
B) f&@06

C) (&f3e (Bfas
D) &1 (GfarsT

Answer: B) f@6

Explanation: =« (Gfta 0S8 STAGE ATe RACIOSENR 9376 2 (SfS F1| - ZAI-6ioa
SIS 919 - International Lawn Tennis Challenge Trophy -

58. Question: NI Jf&* N (T §§4 (ofF F91 TR (&1 (qCT?



A) @1
B) ©19w©
C) a1

D) To1E

Answer: B) ©19©

Explanation: fIt4a YA®@ =& @t Solar Power Station - 43 91 2% SEGs ( Solar Energy
Generating Systems), I1 MfF IFANZT HAGIAIT BRI (ST (Mojave) FFoH© AIFS |
af% TFEAE (FIET 9FF MSIF A6 7%, TR A6 9F@ FI0 NSTF A5 TR AF6 NN TIF
BT af6d NG A58 TS FeT 08 G35 |

59. Question: HTEREFEF (FIFF ST AT O fF T 57 7?2

A) fF2 2T &
B) &1

C) =%

D) fags

Answer: D) fam5s

Explanation: - SIS, SBIFRT, FRIGIH Fofe HT9d S AN TG ©IRFHGF FED (5o
2© (VAT I - HoT- 2EF (FF 92 Afeq T afefde| aF= 436 @1 e (v f{Agys 237 tofd
FH T AT NS 7S {58 “fete FsfEe 27|

60. Question: (F ¥F [ATSFIIF [FOET 2] TN [F& ©F AT THF 9F, O (& AT 7?2

A) SIECIGT
B) SRR
C) SRCITE
D) SRCIGI

Answer: A) SIRMGTT (Isotope)
Explanation: (I S5 SR [ SE ST ST 36 (Ao A7 8 ©F 37 o7 ©Iwa@ T ="

SIRCNEIN FE | (T TS TTAF RIS T3] T [$F ©F 247 [OF S T>TF AMRCIGIT
SRIER]

61. Question: 57 91T FT® AT TT (TN (F?

A) gfRae



B) ST famgater
C) ITTo
D) TASTT s

Answer: B) SR fawgger

Explanation: - 5% (Y@ IS ART SRS ANE ST IFHSE ACEH ST TG | - 5@ F1m
O AEF AT (F@ T FER 54 W@ IR IS I8 (T |

62. Question: I AES Al AEF T (FFT (THI?

A) F3F
B) g

C)3Ta
D) ST

Answer: A) (IS

Explanation: - =T SI[TT0® e, 2o 3051w S IEE@ FIE (R |

63. Question: TINeS N FHeErG F 4Ty M tefa?

A) RFF Y
B) [

C) o

D) Breoo

Answer: D) BRTGH

Explanation: Tg5fe< @ a6 Sreb @ (ofF | 7@ @fos Mfed ey 23 I s
(T FMEF T59 FE AR

64. Question: S fIfFIF F TG?
A) ELA TR

B) @A S-S0

C) By 1T S37x 27

D) 3ETHd I

Answer: B) RES A S-S



Explanation: - SN [A{FIT 3EFEET IS 5 AT [TV 020 27| - (T (AIFTF 308 920 FEF
BIF SIEF (Oxidant) A3 (¥ TS 3EFET I8 FF ©IF [F913%F (Reductant) IET| - TS AT&
e FF a3k e o 23, [5Es aa@ [ofEe @ 932 [ sfFe 231

65. Question: AT FEH FETIT THRG?
A) P4010

B) ZnO

C)CO

D) MgO

Answer: D) MgO (TSI STH12G)

Explanation: Magnesium oxide (MgO) is again a simple basic oxide, because it also contains
oxide ions. Source: britannica.com

66. Question: (FT &g =Y SACHFT FTFI?

INENRIGIERIE

B) SIS

C) cTf&aTsT

D) "G 96 Iifee 41 2@®

Answer: This question has been canceled.

Explanation: =6 1feT Fa1 @™

67. Question: TENRF §@Alte O AFHARF REE (F g 1770 27?

A) foes

B) =GIfsITs
C) TSI
D) GG

Answer: A) f3r@
Explanation: - "NF{33 §feite o1 AfFaRS R357E ST 419 59%@ 2F1 Liquid sodium is used

as a coolant in fast breeder reactors on account of its excellent heat transfer properties. It must,
however, be in the pure form to be compatible with structural materials.



68. Question: (F1 IR FSTHIA ©F ST FEN?

A) GRS
B) Ae3@
C) fosbat

D) PRI

Answer: D) TRR5q

Explanation: (&% INREY 932 A SIFI@A TRARFH (ARSI ©F SN FEA| ARISIS - T3
TR AT FEA], ST TSF AT, FAOF S, TRITROH TH(© Tofo SR FE |

69. Question: I AW TAWH FIG?

A)s o
B) ¢«
C)vfo
D)y f6

Answer: B) ¢ f&

Explanation: MaAMEA R S1fR9T WOFSIE T STy ST AT T2 FAT AR | 57 A7

Tt Ofb |

70. Question: f3Ie TG SITR AT 27 (FA?

A) THB] (Y& THF I

B) ATG-J (W THIF Tely

C) ST (¥ THE Sy

D) ISSfEF SIS (Y THEF 55T

Answer: B) 3G-3f¥ (Y THF TaTy

Explanation: - ToIE TPET TOIEF IS (WF TH IR TIBAT ST §F TNF o)) F16 fAfele
HEF & SR AN 27| - 92 I Ao T9@ N 210 T07 2| - TE SHOT 0 FAE Sels 317
ST ST AT 27|

71. Question: RT3 IfAEF @TATT Flaxy TR (FABG?

A) T
B) ATEE



C) 8@ST =
D) SNfefars

Answer: B) aCEF

Explanation: R&E 33 Il @rsmeTst $fas 72 @0 26606 1 (Intelsat-1)| b affT sHu¢
Aft FRFICTT TTH0Ts ST FRT 23X | AT TIFAN e - ARG | SIT: 11|

72. Question: X JBF T3 F67?

A) Sx000 S (FBERS
B) vooo f&fs (IfBEre
C) Soooo &3 (IHErG
D) Yooo S (GG

Answer: B) vooo f&fE (NfFGEs

Explanation: - Although there are no fires on the surface of the Sun, the photosphere seethes
and roils, displaying the effects of the underlying convection. - Photons flowing from below,
trapped by the underlying layers, finally escape. - This produces a dramatic drop in temperature
and density. - The temperature at the visible surface is about 5,800 K but drops to a minimum
about 4,000 K at approximately 500 kilometres above the photosphere

73. Question: (TRTET F© NN 77 SO (8 27?

A) S Th7 3¢ fi
B) v Hebr
C) S HGY
D) b =BT b f.

Answer: A) 5@ TG 3¢ 3.
Explanation: - s 432 1T Afefvel G (F 8 [3TTH ©161 2T | - SHPE (T I35 3

236 (BAET AT & F67 S FIfAG 77 S161 271 - TIPE (FH 9376 3 57 77 {6 (S 31 96
SIGTA AT I JCET S TBT Y G|

74. Question: (P16 T SAIT NZ?

A) ARETEH
B) 2RSS
C) I



D) %A
Answer: D) 3%
Explanation: I ST TS SAINs ARETE - 31.03% SATH@ - 20.95% ST - 0.10%

S AT - 0.85% FIHA TIR AHNRG - 0.00% IS STTTH - 0.03% HfFTF 3 FfIFT - 0.05% T2
T - T (AN QT 3 R 32 (SYF) TN IF 291 77|

75. Question: ST L@ beifo IRAR [ JET?

A) &

B) ¢if&s (17
C) 3% (o1
D) fofafa

Answer: A) §

Explanation: febf$fF 97 IAfGF M@Fe: [K2S04.A12(S04)3.24H20] (SBIFT 6
AT G, 38 o] Mfel) AT STHPT IS Fel1 T A |
76. Question: (T (F1H 3 NG a13el [FI2F FAT 2J?

A) IR

B) (ST 1H

C) T

D) "I, T[T
Answer: B) (ST

Explanation: TR 8 SR - NG aze 5970 23 I 75fah T 57 71 (O |

77. Question: N© TG @R TSI 4T (FAG?

A) ST
B) fiferer
C) 7w
DIGIEY

Answer: D) (1R1

Explanation: - §Tg (78 536(F | (3 ST FAE Zaipe <1 27| 4T ©IFf 8 fAqys spAfaandt| - oy



ST @ ST A= NI ST (6.5%) | CTRIF AT €%, FTRANI ©. 0% |
------------------- ARY SHFERRET T (@3, O NOF SoF (TR

78. Question: IFHMF o [TAFIIOFT SBITT FEA-

A) BT SIeTeT AfSSTe
B) FfAF1T

C) (Sfeb@=

D) (g3

Answer: D) (33 (Braille)

Explanation: - Braille, universally accepted system of writing used by and for blind persons and
consisting of a code of 63 characters, each made up of one to six raised dots arranged in a
six-position matrix or cell.

79. Question: TR §fete (F= N FTIA T <20 27?2

A) (TETerETT

B) RRE TS

C) @

D) 2TEMI- 0 ¢

Answer: B) ZRRTE

Explanation: - NS §fete o1 Af5azs R CNSAe 4hg 19%e 271 Liquid sodium is used
as a coolant in fast breeder reactors on account of its excellent heat transfer properties. It must,
however, be in the pure form to be compatible with structural materials. - NS, I R
RCEIATD 3 TOTHGA AN MH1RG 5720 27|

80. Question: (T ifo R 8 2o (T e ©IF TIAF F1 2J?

A) BT

B) anfoersy
C) Coferamer
D) TR

Answer: B) 16T

Explanation: - TG ©IF F2ER ST 3T I I 9@ @fod REF a7 2fF 517 &1 9@
RAfoF I TFRIF FA1 77| - @ RENET MET IfFIRT Tad a3 (7T 51f ATF | HIHfe®




81. Question: I IAATAT IFIA FIG?

A) se fo
B)so 6
C)s:fo
D)ss f6

Answer: B) o f6

Explanation: - I (NN (NG Fef AT ¢ofB | - FIAT IAAET SIfT@F Iof 512257 wfb | - IR
FATNT AR Fof 2 $ofG | - IRAT FATT [HAICT 2T 0G| - IRAT FATT FIIAT AT
SSfol

82. Question: IR TRR@F AW FF F?

A) FTE5T
B) ®3a1
C) o1
D) <=1

Answer: B) (63«

Explanation: - GT& 0% *4{b GRR | (7 ROTE IRAT WIR0eTF 9 I R M| - R 87 oty
- TRF| T, TRIGERA e, fofel sXTa Abiaos | - S TR WfResa F23 NRIH(/ A
M - AR AYIHF 7G|

83. Question: "SYNY' @d I (F1F Aot (@ 27?2

A) vfere Sife
B) sr%fers Sife
C) i fifs

D) sy Sife

Answer: B) anfas fife

Explanation: ST Sifete '©s tae 521 (@ 37| - IRAT (7725 Y [ oo aaners oz
ST FE BT 932 A7 TUIH sffa3fze 8 Jfg|



84. Question: IR O IV FFPI 641 FEA (F7?

A) IFI wg
B) ey
C) 1 T[S
D) TS GRS

Answer: A) %3 13
Explanation: - ST(I WMW% vocabulario em Idioma Bengalla E Portugues

(1743) SR AF6T I TS SF T IRAT SHIF FFAT Too] FE, [FF (o1 (FI@T 5% foeet
1, AF5] JHTF fooef W@ |

85. Question: TIFY ARTGH (TS FIHAEH I [F?2

A) I 8 2@

B) f¥E 171

C) 2M@NeR

D) ST® SSEF S

Answer: B) =g IS

Explanation: 3SR STSAEE 3 %72 A%3w A6© T 3 (1Y FIHIE STe WA AfA 5588
ST FFITS 27|

86. Question: FTCIASN BT TR (I (F7?

A) TS

B) tTAW S[ToT

C) =7 A

D) ™2 2o W

Answer: C) 32w AT

Explanation: % 32w SR NI [T SO M TACHEFT ATEHT | - NAF @ d SEIFTT
MR [T WA 2T - @RIHF TIPS AMoF |

87. Question: 'SI6I FIRAT (F4F (F?

A) TTW T[T 3%
B) *18%w© SN



C) BT AT
D) 13 S AT oA!

Answer: A) T35 5T 3%

Explanation: - 373w 3[5ed1 S AF6e 8T SfRfera 8 Ffaw| s=iE Bid (NG &6 Setan,
ST, H9% 3 FHPIR SIS TR

88. Question: TN AT HTACEH Ff-

A) HREETOE=T

B) Sl
C) (51 AT

DRIEERINGS
Answer: A) Hf&eTTgERI

Explanation: e o1 - (IS @TFINE A JIQ ST 7o I 2| - AT A1 SRR
I TR AT | (Fa], (@ @FIE FE] FAOTF 92 (3; O SN [0 i FeT I 7

89. Question: "TFHFIGT 97 FofTe1 F?

A) ST

B) Bl 53wy
C) A3t 3w
D) 3G 531

Answer: B) fi9 53

Explanation: - T¥(TH SF(©3 A6© I A6 K SR F1 IF a9 ‘TFHF6T’ | 2 FIH0
61 FEA 3G 53| - T Spod T IPOIR AF RO (TRFTEA (V@ 35g75 917 Jagae o
AIFE FEF| - NFPFIEF-97 F(F TG 63T IRAT SR 3 TR |

90. Question: JIRAT FYT ST A T (FA6?

N ERIRREEIC]

B) fRrenfy Siea

C) Zeld 8 FFeI IR
D) 1= T o1¥(en

Answer: A) g rsg a1t



Explanation: - I 3§ SATE AW fA7fa ‘FH0E MEFT AW | - S35 59810 S TGS IO
feraa (V@ (@ 28 S0 271 - af6 S0 T STSET SISIMET JTFAPIE (713 IR I 97
SF SEN F1 2T |

91. Question: FfJ AFMSET T3 FA6?

A) HfE9ET ST
B) SESY SIHAT
C) ANl AT
D) 5ENIE (SN]FT

Answer: A) BRTET AT

Explanation: SIS QAP Sbod ST SISz S| - OISzl - (ST S, GRS,
BESI MORE, B0 TF5T, BT |

92. Question: "AJT-TJR' Foel F(IA-

A) S IR

B) CTSTEHT 3%

C) a7 St (GIgaT
D) 739 T3 (XTI

Answer: A) [T IeRET!

Explanation: 573w 2113 (RI0TH fSATE S v o FAFBIEa S SR fHamesie Segsze FE| - 'Sree
SRR OTAW 2R (RIS ATST afbw a3 F1a5er3 |

93. Question: 'IRIAT FNETF TVT iAol (FAG?

A) g
B) w3t
C) JsIAf
D) SeETETS

Answer: A) 39

Explanation: SIfate S1{Fe ©AT: - FIO TSHT AT FYT FIRTIT| - S0 I FIN6F M
(OTEBF, S3 S5 SR 27| - 53 FfFel: TN - (N6 @ FfFe] | - S35k &t
. T (X



94. Question: I TIA(T FWAGT T6AE (F1F AT HIWT (IH?

A) FET
B) FIferdersy
C) T+

D) Sgs1a

Answer: C) 35w+

Explanation: - 538 fFB1@ MF 'SIE@ T (GYAT ST=7aF S8 2J| - IRAT SThaifod
fF10T a2 sfas1a szw Tafas - sty SwAifea v sfere smAlfe a2 sfas 537 8 afed I
95. Question: "AF" *THfbd N fAEw-

A) 5 + 3F

B) o + 5%

C) & + aF

D) & + 4%

Answer: B) 3 + %%

Explanation: 91 317 3337 3 FTEF 77 1 F1F 31 P 319 27| P F17 776! THAF WX J& |
(T - T + aF = H(AF

96. Question: IFF foaft 8 fF fF?

A) ST, ISTfe 3 fREd

B) (FINGE 73

C) ( 1sTyeT, BTw s @ ™

D) SIFTEFT, SIS 3 (15T

Answer: C) (F1sTe], ST 8 faey

Explanation: a3 @& IETF fSAD S5 ATF- - AT, - AMS, 3 - @O ANG 3 FEF

IERTF (T 39 47|

97. Question: "AFTeEF f5f¥' (@1 TTSIT ToaAT?

A) Ffeqrad fRaaq



B) Jfeymfefes e
C) fomya Ty

D) JfeE&E Mq NaFeTel
Answer: B) J[GImSf6P SAATH

Explanation: - 3Ta@ES f6f3 S35 NI IRAOCTR J[SI% ST SN (777 v 6 6o a5
RIAF | - el TYH A 3 SENAHAT ST [BIOSE T2 FA1 27| RIFA6 T4 FF1 27 a
85, 6 2005 a1 - aff TFT® 2T FIAT FFTTH (VF | - 93 I N Ael] AHIGH T R
FTO FEEA SR SREAT (ST, T AR, (T RICT, A1 THi 2855 |

98. Question: IRAT AFNEGHA (TN I=F F6P® T2

A) S©ax IH
B) swaa I5H
C) s>ax fars
D) v»ac f2r

Answer: B) Swt¢ J5™

Explanation: IR AFTGH TRAT ST SRF1E NHFZS STEF TGO | - S0 by TN 59 TSI (@
fEOTET $5¢¢) BIRTT I G af6 efde 21 - voey ER & FSeEe 2w AP 2%
(5903-5>B3) AFTGNT FA ATCTNFT WA T2 FEF| - TR IFNGIT TAN FATCTAS AT
AT 3T (DR S) | - IRAT AFNGNT FNT TOTAS NS SAFAH 2T (5D LS ) |

99. Question: NG FIGIF TIG6F (F?
A) faerg = 17

B) TSHIFE T

C) SrgeTersw C57e

D) SR A7 W

Answer: A) fa@ &9 17

Explanation: - &6 31 5@l $eTd J3 T&d I W o410 281fe | - RS @G
TGN T ST AN STRIG A7 (AT ASTET M | - MA@ HLTA (SBI8-5190) HAF(,
TGP, IRTSRTE N@G TT6F, ANATSHH Td JT0F | - ©IF Ab® "Gl FTeFar IR
TRSTT A SEAG e |

100. Question: ) Y SN & FE?



A) T FET ToF

B) fge &
C) Sy T
D) SEH S

Answer: A) S(¥(F FEF T617

Explanation: IR ST 970 AXTTFHIE IFIEF 0T AF5 M7 A0 28TF A FIE ST
JE | IATS AN SAE R FE |



